twopi_primakoff _DSelect swlpw1000 NOTAG_W_1000000

g1Vv00 re = 2.525+ 0.017
glVv00_im = 1.495+ 0.029
glVv1ll re = 3050.100 £ 5.756
glV1l im = 0.000% 0.000
glVvi0_re = -57.214+ 7.079
glV10_im = 194.984 + 19.209
g1V1-1_re = 3.992+ 6.558
glVvi-1 im = 127.707 £ 34.007



twopi_primakoff_DSelect swlpw1l000 TAG_W 1000000

g1V00 re = 2.845+ 0.009
g1V00_im = -0.793 + 0.031
g1V1l re = 3027.920+ 5.256
g1V11l_im = 0.000+ 0.000
g1V10 re = -41.608+ 7.322
g1V10 im = -161.145+ 18.044
g1V1i-1 re = 17.791+ 6.507
g1V1-1_im = -24.887 + 32.299



twopi_primakoff_DSelect swlpw1l000 TAG10 W_ 1000000

g1Vv00 re = 2.540+ 0.018
g1lVv00_im = 1.468 + 0.032
glVv1l re = 3044.800 = 5.953
glV1l im = 0.000% 0.000
glVv10_re = -57.942+ 7.635
glVv10_im = 186.633% 21.472
g1V1-1_re = 2.092+ 6.530
glVvi-1 im = 118.002+ 40.278



twopi_primakoff_DSelect swlpw1000 TAG40 W _ 1000000

g1Vv00 re = 2.544+ 0.019
glVv00_im = 1.451+ 0.034
g1lV1l _re = 3055.170+ 5.816
glV1l im = 0.000% 0.000
g1V10 _re = -50.882 + 7.559
g1V10_im = 199.312+ 19.966
g1lV1-1 re = 6.657+6.489
glV1-1 im = 157.616 = 40.250



twopi_primakoff _DSelect swlpw1l000 NOTAG_File 1000000

g1Vv00 re = 2.525+ 0.017
glVv00_im = 1.495+ 0.029
g1lV11l re = 3050.100* 5.749
glV1l im = 0.000% 0.000
g1V10 _re = -57.206+ 7.030
g1V10_im = 195.037 + 19.488
g1V1-1_re = 4.003+ 6.556
glV1-1_im = 127.621+ 34.143



twopi_primakoff _DSelect swlpw1000 TAG_File 1000000

g1lVv00 re = 2.523+ 0.018
glVv00_im = 1.505+% 0.031
g1lV11l _re = 3045.050+ 5.648
glV1l im = 0.000% 0.000
glVvi0_re = -37.981+ 7.512
g1V10_im = 175.650+ 18.930
g1lV1-1 re = 2.878+ 6.655
glV1i-1_im = 120.608 + 36.161



twopi_primakoff_DSelect swlpw1l000 TAG10 File 1000000

g1V00 re = 2.852+ 0.009
g1V00_im = -0.749 + 0.031
g1V1l re = 3027.610+ 5.598
g1V1l im = 0.000+ 0.000
g1V10 re = -63.299+ 7.732
g1V10 im = -185.102+ 22.378
glVi-1_re = 18.402+ 6.571
g1V1-1_im = -11.249+ 34.831



twopi_primakoff_DSelect swlpw1000 TAG40 File 1000000

g1Vv00 re = 2.847+ 0.010
glVv00_im = -0.746 + 0.033
glVv1l re = 3040.340+ 5.761
glVvil im = 0.000+ 0.000
g1lV10 re = -54.033+ 7.648
glVvi0_im = -179.648 = 18.569
glV1l-1 re= 21.715+6.754
glVvi-1 im = -41.183+ 33.323



twopi_primakoff_DSelect_sw1lpw1000 _NOTAG_Intime_1000000

g1Vv00 re = 2.525+ 0.017
g1lVv00_im = 1.494+ 0.030
g1lV11l re = 3050.030+ 5.632
glV1l im = 0.000% 0.000
glVvi0_re = -57.176+ 7.026
glVvi0_im = 196.230* 19.540
g1V1-1_re = 3.929+ 6.447
glVvi-1 im = 127.908 £ 33.740



twopi_primakoff_DSelect swlpw1000 TAG_ Intime_ 1000000

g1V00 re = 2.844+ 0.009
g1V00_im = -0.796 + 0.027
g1V1l re = 3027.900+ 5.393
g1V11l_im = 0.000+ 0.000
g1V10 re = -41.524 + 7.666
g1V10 im = -161.724 + 18.404
glV1i-1 re = 17.063+ 6.424
g1V1-1_im = -23.470+ 29.896



twopi_primakoff_DSelect_sw1lpw1000_TAG10_Intime_1000000

g1Vv00 re = 2.527+ 0.018
glVv00_im = 1.492+ 0.031
glVv1l re = 3044.680+ 5.973
glV1l im = 0.000% 0.000
glVv10_re = -56.708 = 7.403
glVv1i0_im = 186.775% 21.057
g1V1-1_re = 0.549+ 6.459
glVvi-1 im = 107.771% 36.939



twopi_primakoff_DSelect_sw1lpw1000_TAG40_Intime_1000000

g1V00 _re = 2.832+ 0.009
g1V00_im = -0.813 + 0.027
g1V1l re = 3037.720+ 5.400
g1V1l im = 0.000+ 0.000
g1V10 re = -56.357 + 7.599
g1V10_im = -168.524 + 18.748
glV1i-1 re = 17.744+ 6.430
glV1i-1_im = -26.733+ 29.488
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